
Delorean Motor Company
15025 Eddie Drive

Humble, Texas 77596 USA

281/441-2537 Voice
28t/441-2815 Fax

800/USA-DMCI Toll-free
http ://wuvw.d elorean.com

Quotation
Quote Number:

531

Quote Date:
Nov 3, 2005

Page.
1

smE

Quoted to:
DMC HOUSTON
15023 EDDIE DR

HUMBLE, TX 11396
Tlcl

Customer lD Good Thru Payment Terms Sales Rep

DMC_HOU L2/ 3 /05 Prepaid

Quantity Item Description Unit Price Extension

1

1

1

1

1

1

I
1

1

00
00
00

00

00
00

00

00
00

1.00
2 .40
2 .40
2 .40
4.00
4.00
1.00

2 .00
1.00
4.00
2 .00
1.00
1.00
2 .00

4.00

VIN+
MILEAGE

KEYTAG#

11405
ra2513
11406
LA2B20
15002
106931N

11004
K100778
100778
100904
sP10026
sP10835
520r2

109071
51017
IA01 1 4

ta\912
52105
rar994
41 A17

100119

03341
284 60
407

R&R SEAL CRANKSHAFT

SEAL, CRANKSHAFT FRT

REPLACE TIMTNG COVER O RING

SEAL, O RING

R&R SHIELD, MUFF'I,ER HEAT

HEATSHIELD, CRANKSHAFT &

ALTERNATOR (NEW, IMPROVED)

REPLACE BOTH ENGINE MOUNTS

MOUNT KIT, ENGINE

SUPERCEDED TO K1OO778

STUD, ENG MOUNT

NUT, MlO NYLOC

M1O X 30 THICK

REPLACE TIE_ RODS TWO, EXCLUDES

ADJUST TOE- IN,. SEE FOLLOWING

ITEM _ 52015 FOUR WHEEL AL]GNMENT

TIE_ ROD END

R&R STABILIZER BAR- REPLACE

BUSHING, RUBBER

BUSHING, STAB STAR

REPLACE STEERING COLUMN BUSHING

BUSHING. STRG COL

R&R TWO AXLE BOOTS INCLUDES R&R

DRIVE SIIAFT SAME DRIVESHAFT

AXLE BOOT (WITH I,OCK STRIPS)

24A.40
5.95

104.00
3.06

40.00
59.95

160.00
?.J AA

48 00

,o qq

120.00
/ oo

\'1 6

160.00
19.95

1 50. 00

L4 95

240.40
5.95

104.00
3.06

40.00
(o oq

160.00
14.96

48 00

qq qn

120.00
19.96
77.52

150.00
19.95

320.00

59 BO

Subtotal

Sales Tax

Total

Continued

Continued

Continued



Hm
Delorean Motor Company

15025 Eddie Drive
Humble, Texas 77595 USA

281/441-2557 Voice
281/441-2815 Fax

800/USA-DMCI Toll-free
http.//www.delorea n.com

Quotation
Quote Number:

631

Quote Date:
Nov 3. 2405

Page:
2

DMC HOUSTON
15023 EDDIE DR
HL'}'4BLE / TX 11396
USA

Customer lD Good Thru Payment Terms Sales Rep

DMC_HOU t2/ 3 /A5 Prepai d

4 .00
12.04
1.00
1.00
1 .00
2.AA
1 .00
1 .00
2.04
2.00
1.00

2.AA
2.04
4 .00
1 .00
1.00
1.00

1 .00
1 .00
4.00
1.00

1 .00
1 .00
5.00
2 .40

100119X
100919
K119004
109005
L09012
119005
61009
62401
6 r010
100095
61013

109000
109006
i,^/100562

63001
105543
2r0Lr

r46999
t46991
SP1O34B

31006

53011
Kl1 688 3

106680
106883

240.40
240.40

40.00
99.00

640.00

38.56
38.56

7 .50
88" 00

r24 .95
95.00

6.94
10.53

1 .65
128.00

160.00
2r.99

240.40
240.A4

80.00
198.00
540.00

11 .12
11 .12
30.00
88.00

124 .95
95.00

6.94
10.53

b - fiU

128.00

150.00
27.99

AXLE BOOT

LOCK PLATE, D,/AXI,E

PADS, F&R W/SHIMS

PAD SET,FRT BRAKE _ SEE KITS
PAD SET,REAR BRAKE - SEE KITS
BRAKE HDW KIT FR

R&R FRONT BRAKE ROTORS

R&R REAR BRAKE ROTORS

MACHINE BRAKE ROTOR

BRAKE DISC, FR

OVERFTAUL ALL FOUR BRAKE CALTPERS

AND FLUSH HYDRAULIC SYSTEM

CAIIPER KIT. FR

CAIIPER KIT, REAR

BRAKE FLUID
R&R BRAFG MASTER CYLINDER
MASTER CYLINDER, BRAKE

REPLACE FLEXIBLE FUEL LINES AT

ACCUMULATOR

HOSE, ACCUMULATOR FEED

HOSE. ACCUMULATOR

CI,AMP, HOSE

CLEAN & SECURE A],], CHASSTS

GROUND CONNECTIONS

R&R TWO T/ARM BOLT- MT

TRB KIT
SHIM/WASHER

BOLT M12X135

86.28 8 6.28

Subtotal

Sales Tax

Total

Continued

Continued

Cont inued



Delorean Motor €ompany
15025 Eddie Drive

Humble, Texas 77596 USA Quotation
Quote Number:

631

Quote Date:
Nov 3, 2005

Page:
3

smE
.' 281/441-2557 Voice

....::,:,,,- 281/441-2815 Fax
: " 

8OO/USA-DMCI Toll-free
hft p ://wuvwde lorean.co m

Quoted to:
DMC HOUSTON
15023 EDDIE DR

HUMBLE, TX 11396
USA

Customer lD Good Thru Payment Terms Sales Rep

DMC_HOI] 12/ 3 /05 Prepaid

Quantity Item Description Unit Price Extension

2 -40
1.00
2.40
1.00

1.00
2.40
1.00
1.00
2.40
1.00
1.00
1.00
1.00
2.40
2.04
1 .00
1 .00
r .00
1 .00
r .00
1.00
1.00
1.00
1.00
1.00
5.00

14. 00

SP1O17B

87504
106915
13008

Kl18575
100502
100505
100816
101754
101757
101759
101750
702149
I02283
L022B4
r02382
L02481
105994
70682r
1069s9
raB672
1 08 513
1 08 675
tag 61 6

raB 61 9

SP1O34B

sP10349

NUT, M12 NYLOC

R&R CAP, SEAT BELT, TWO

SEAL CAP_ SEAT BELT BOLT

INSTA],L COMPLETE HOSE KIT
INCLUDING RADIATOR

HOSE KIT W,/ RADIATOR

HOSE, RESVR

HOSE,COOLANT CPLG

SWITCH, COOLING FAN

HOSE, HEATER

HOSE, HEATER

HOSE, HEATER

BLEED HOSE

HOSE / WATERPUMP

SEAL. O RING

GASKET, INT MANIFOLD

SEAL, O RING
HOSE,HEATER PIPE

HOSE, COOLANT

C CONNECTOR/ HOSE

SEA],

HOSE, HEATER

HOSE, HEATER

HOSE _ WATER PUMP LH

HOSE _ WATER PUMP RH

CONNECTOR, RESVR TANK

CLAMP, HOSE

CT,AMP, HOSE

15.00
) \'1

704.00

4 69. 00

15.00
5.74

704.00

469.40

Subtotal

Sales Tax

Total

Continued

Continued

Continued



E

Quoted to:
DMC HOUSTON
15023 EDDIE DR

HUMBLE, TX 11396
USA

Delorean Motor Company
15025 Eddie Drive

Humble, Texas 77596 USA

281/441-2557 Voice
281/441-2815 Fax

8OO/USA-DMCI Toll-free
http.//wuvw.delorean.co m

Quotation
Quote Number:

631

Quote Date:
Nov 3, 2005

Page:
4

Customer lD Good Thru Payment Terms Sales Rep

DMC_HOU 12/ 3 /05 P rep aid

Quantity Item Description Unit Price Extension

26. A0

4.00
2.04
1.00
6.00
1 .00

1 .00
2.40
I .00
1.00
1 .00
1.00
1 .00
1.00
1 .00
1.00
1 .00
1.00
I .00
1.00
1 .00

1.00
I .00
1.00
1 .00

sP10352
sPl0353
I02I53
100486
100505
COMMENT

1 2I08
sP10376
101463
1 05 538
105470
Ia5 41I
705251
sP10034
sP10806
14003
I0IA62
r42531
I3121
rar9 44

35246

100439
rar629
8 4014
KIII592

cLAt4P, HOSE
].TAMD HNAtrt"-*,,
HOSE,WATERPUMP UPR

RADTATOR

HOSE, COOLANT CPLG

REPLACEMENT OF AC UPPER BEAR]NG

AND PULLEY PARTS FOLLOWS:

R&R PULLEY BEARING, ONE

CIRCLI P

PULLEY, A,/C COMPRESSOR

BEARING, COMPRESSOR PULLEY
SPINDLE, A,/C COMPRESSOR

SPACER, A,/C CoMP

SPACER, IDLE BRACKET

WASHER M12 FLAT

LOCKNUT M12

R&R HOSE/ PCV SYSTEM

HOSE_PCV

HOSE

R&R RESERVOIR. REPLACE WITH METAI
HEADER BOTTLE, METAL

R&R I,AMP/ ENGINE COMPARTMENT,

AND/OR BULB AND/OR GASKET, AND,/OR

SWITCH

LAMP, ENG COMPARTMENT

SWTTCH, ENG/GLBX
INSTAIL STRUT KIT
SIX STRUT COMBO KIT

55.00
I.44

)\ a)
4.50

14.lz
s.39
0 .1r
4.24
1.13
8.00
B .I2
5.58

16.00
139. 00

12. A0

26.55
I4.94
56.00

139. 95

56.00
2.BB

)q a)

4.50
1A )a

5.39
a .1L
0.24
1 .13
8.00
o aa

5.58
16.00

139.00
12.04

26.55
14.94
56.00

139.95

Subtotal

Sales Tax

Total

Continued

Continued

Cont inu ed



Delorean Motor Company
15025 Eddie Drive

Humble, Texas 77596 USA

281/441-2557 Voice
281/441-2815 Fax

800/USA-DMCI Toll-free
htlp t / / wsrw.d elorean.com

Quotation
Quote Number:

631

Quote Date:
Nov 3, 2005

Page.
-)

HM

Quoted to:
DMC HOUSTON
15023 EDDIE DR

HUi\4BLE, TX 11396
USA

Customer lD Good Thru Payment Terms Sales Rep

DMC_HOU 12/ 3 /A5 frepaid

Quantity Item Description Unit Price Extension

2.04
2.04
2.00
1 .00
1 .00
4 .00

4.00
4.00
1.00
1.00
2.40
2 .40

1.00

2 .40
8.00
2 .40
1.00
1.00
1.00

1.00
1.00
1.00
2 -40

100592
105063
108209
36rA 4

K110150
35007

sP10055
746429
K100790
35106
sPl0305
35111

COMMENT

sP10076
sPl0077
100540
36203
100952
3 6101

101537
36502
110073
B 0113

DOOR STRUT

LUGGAGE COMPARTMENT STRUT

LOUVRtr STRUT

R&R BLADE/ WIPER L.H. AND R.H,
W]PER B],ADE KIT
R&R BULB &/OR LENS, PARK I,A}4P OR

MARKER I,AMP

BULB, FRT DI LIGHT
SOCKET, MARKER LIGHT

MARKER LIGHT & GASKET KIT
R&R BULB, LICENSE LAMP TWO

BULB, INTERIOR/LICENSE LAMP

R&R PRINTED CIRCUIT, TAIL LAMP

ASSEIALY
RE_PEEN CIRCUIT BOARD RIVETS,
SERVICE A],L ELECTRICAL CONTACTS

AND REP],ACE BULBS AS REOUIRED

BULB, TAILLIGHT
BULB, (STOP RR TURN)

LAI4P ASSY, FRT INTERIOR
R&R SWITCH, DIM,/WI PER

SWITCH, DIM,/WIPER

R&R RESERVOIR, WASHER AND/OR TRAY

AND/OR WS WASHER MOTOR

MOTOR, WS WASHER

R6.R MOTOR/ WINDOW L.H.
MOTOR, WINDOW LH

REPLACE ONE OUTER WIPE SEAL

16.00
9.95

40.00

I .50
r4"41
73.95
54. 00
1.30

40.00

40 00

1.00

36.9s
120.00
104.95
r20 .00

19.95
200.00
2s9.00

80.00

16.00
9.95

r50.00

6.00
41. B8

13.95
54. 00
z -6u

80.00

40 00

2.04
10.00
13. 90

120.00
104.95
r20.04

I A qq

200.00
?tq nn

160.00

Subtotal

Sales Tax

Total

Continued

Continued

Cont inued



DeLorean Motor Company
15025 Eddie Drive

Humble, Texas 77396 USA Quotation
Quote Number:

531

Quote Date,
Nov 3, 2005

Page:
6

gm
.:::::::::' 281/441-2557 Voice

' 281/441-2815 Fax
800/USA-DMCI Toll-free

htlp : / / wvtw.delorea n.co m

Quoted to:
DMC HOUSTON
15023 EDDIE DR

HUMBLE, TX 11396
USA

Customer lD Good Thru Payment Terms Sales Rep

DMC-HOI] 12/ 3 /A5 Prepaid

Quantity Item Description Unit Price Extension

1 .00
1 .00
1 .00
I .00
1.00

1.00
1.00
1 .00
2.0a
l 00
7.00
1.00
1.00
1 .00

1.00
2 .A0
1.00
1 .00
1 .00
1.00
1.00
1 .00
1 .00
4 .00

1.00

IA6I2B
r46129
8 4312
r04512
37405

31446
K1r116B
101071
106085
106086
r06269
7ILL02
101888
7 3010

KIL4152
sPl0307
71003
rar213
36208
1 01 638

K111660
w300006
r77249
84011

8s002

SEAL, POWER WINDOW WIPE RH

SEAL. POWER WINDOI{ WIPE LH

R&R CABLE/ HOOD RELEASE ADJUST

CABLE, HOOD RELEASE

SERVICE FUSE BOX; MAY NEED TO

REPLACE BOX

INSTA-LL REI,AY KIT
RELAY UPDATE KIT
RELAY, LAMBDA

25 AMP CIRCUIT BREAKER

4OA CKT BREAKER

RELAY, CHANGEOVER

FUSED WIRE LINK
ESCUTCHEON, ARMREST RH

R&R AND REBUILD A,/C MODE CONTROL

SWT TCH

MODE SWITCH REPATR KIT
BULB, AC E'ASCIA_ QUAD

R&R CABIN FAN ASSEMBLY

CABIN FAN ASSEMBLY

R&R SWITCH, REAR DEFOG

SWITCH, REAR DEFCG

PEDAL PAD SET (MA}]UAL)

CAPS, GREY ARM REST_NARROW

SWITCH, INERTIA
ADJUST DOOR LATCH STRILGR _ ''PIN
ADJUSTMENT ''
R&R FASCTA FRONT

28.89
28.89
56.00
25.63
80.00

80.00
226 . 14

19 .81
160.00

?q qq

2.r9
80.00

r03. 82

16.00
?o oq

34.99
24.8r
44.9r
BB. OO

400.00

28 .89
,R eq

56.00
26.63
80.00

80.00
2?€,.14

l cr e?

160.00

39.95
/ )a

80.00
r03. 82

16.00
?q qc

?4 qa

24.8r
44.9r

3s2.00

400.00

Subtotal

Sales Tax

Total

Cont inu ed

Continued

Continued



Delorean Motor Company
15025 Eddie Drive

Humble, Texas 77396 USA

281/441-2557 Voice
28t /441-2815 Fax

800/USA-DMCI Toll-free
http ://uvuvwdelorean.co m

Quotation
Quote Number:

631

Quote Date.
Nov 3, 2405

Page:
1

gmE

Quoted to:
DMC HOUSTON
15023 EDDIE DR

HIJ}4BLE, TX 11396
USA

Customer lD Good Thru Payment Terms Sales Rep

DMC_HOU 12/ 3 /05 Prepaid

Quantity Item Description Unit Price Extension

1.00
1.00
1.00

1.00
1.00
1 .00
1 .00
1 .00
I .00
1 .00
1 .00
1 .00
1 .00
1 .00
1.00
1.00
2.00
1.00
1.00
1.00

10.00
5.00
5.00
1.00
2 .40
8.00

85103
108937
B 4012

KII7666
LA69 61

106968
tral 2r
tral 20

1 0B 982
I 0B 983
1 08 984
1 08 985
1 0B 986
1 0B 987
1 OB 9BB

1 0B 989
110044
101601
t41602
IOI628
sP10256
sP10041
sP10030
100632
sP70662
sP10508

R&R FASCIA, REAR

KIT. REAR LICENSE BEZEL HARDWARE

INSTA-LL COMPLETE DOOR SEAL AND

WEATHER STRIPING KIT INCLUDING

DOOR ROOF SEALS

DOOR SEAL KIT EARLY STYLE

SEAL, DOOR/ROOF LH

SEAL, DOOR,/ROOF RH

SEAL, DOORS]LL LH

SEAL,DOORSILL RH

SEAL,A_ POST UPR RH

SEA-,A_ POST UPR LH

SEAL, DOOR FRT LWR RH

SEAL,DOOR FRT LWR LH

SEAL.B_ POST UPR RH

SEAL.B_ POS- UPR LH

SEAL. DOOR REAR LWR RH

SEAL, DOOR REAR LWR LH

SEAL. INNER DOOR

FILLER, H/I,AMP GAP LH

FILLER, H/T,AITP GAP RH

SCREEN, AIR INLET
WASHER

BOLT M6X16

NUT M6

SPOILER, FRONT

SCREW M4X12

WASHER M6 FLAT SS

400.00
2B .25

432 . A0

449 00

1 .'72
1 1)

161.r0
0 .44
0.51

r94 .81
1.10
a.24

400.00
)2 )\

432 . A0

449.00

1 .'12
1 .'12

157.10
4 .44
a trtr

7.24
194 .81

2 .24
1A)

Subtotal

Sales Tax

Total

Cont inued

Continued

Continued



Delorean Motor Company
15025 Eddie Drive

Humble, Texas 77596 USA Quotation
Quote Number:

631

Quote Date:
Nov 3, 2005

Page:
B

gmE
j:=: 

281/441-2557 Voice
i.. 281/441-2915 Fax" 800/USA-DMCI Toll-free

htlp: / / wvwt.delorean.com

Quoted to:
DMC HOUSTON
15023 EDDIE DR

HUMBLE/ TX 11396
I]SA

Customer lD Good Thiu Payment Terms Sales Rep

DMC_HOU 12/3/05 Prepaid

Quantity Item Description Unit Price Extension

8.00
2.40
2 .40
2.40
1.00

1.00
1.00

1.00

1 .00

1 .00

1 .00
1 .00
1.00

1.00

1 .00
1 .00
1 .00
1.00

sP10676
sP10041
sPr0252
sP10255
86007

105556
COMMENT

83100

83100

83100

83100
83036
83100

83039

IIA2I6
IIO2Il
81022
110438

NUT M5

BOLT M6X16
WASHER M6 SPLIT
WASHER

R&R DROP GI,ASS, RE-INSTALL ON

TRACK

GI-ASS (ONLY) , DR DROPPING, R

REMO\E, REFINISH & REINSTA],L
WINDSHIELD REVEALS (BLACK BORDERS)

STAINLESS REPAIR LH FENDER

SCUFFED ON TOP, 2 DENTS AT WHEEL

OPEN]NG

STATNLESS REPAIR RIGHT FENDER AT

WHEEL OPENING
STAINLESS REPAIR RIGHT QUARTER

WHEEL OPENING LIP
STAINLESS REPAIR HOOD SMALL DENT

R&R STAINLESS STEEL T TOP

STAINLESS REPAIR T-TOP BENT REAR

SURFACE AND 2 DEI{TS

BLEND ALL EIGHT EXTERIOR

STATNLESS STEEL PANELS TO REMOVE

ALL REPORTED SCUFFING MARKS AND

LIGHT SCRATCHES

ST]NVISOR, PASS RH (LIGHT GREY)

SUNVISOR, DRIVER LH (LTGHT GREY)

R&R GLOIE BOX LATCH

LID, GLOVEBOX (GREY)

0.51
0.51
0 .07
a .44

88.00

51.58
150.00

244

60

244

40
224
324

640

00

00

00
00

00

56 .32
56-32
40.00
65-96

4.88
r.02
0.14
0.88

88.00

61. s8
150.00

240

50

240

00

00

40.00
224 . A0

320.00

640.00

56.32
56.32
40.00
65.96

Subtotal

Sales Tax

Total

Continued

Continued

Continued



Delorean Motor Company
15025 Eddie Drive

Humble, Texas 77596 USA Quotation
Quote Number"

63r

Quote Date:
Nov 3, 2005

Page:
o

smE
281/441-2557 Voice

28t/441-2815 Fax
8OO/USA-DMC I Toll-free

htlp: / / wvwtdel o rean.com

Quoted to:
DMC HOUSTON
15023 EDDIE DR

HUMBLE, TX 11396
USA

Customer lD Good Thru Paiment Terms Sales Rep

DMC_HOU t2/ 3 /05 P repaid

Quaptitv Item Description Unit Price Extension

1 .00

1 .00

1 .00
1.00
1.00
2.40
1.00
1.00
1 .00
1.00
1 .00
1 .00
1 .00
1.00
1.00
1.00
1.00
1 .00

14.00
2.04
1 .00
1.00
1.00
1.00
1 .00

COMMENT

87015

Lta 4 64

110465
110480
108 659
110250
rr0249
110495
110504
110505
110500
81 427
Kl11001
110059
110060
1r0a 62

110063
sP10671
B 7313
K11660 1

COMMENT

100688
01006
K111143

RE_DYE FADED A_PILLARS IN PLACE

TO MATCH NEW DASH AND }OJEE PADS

R&R CENTER CONSOI,E , INCLUDES

SWITCHES, LIGHTER & RING COIN &

ASH TRAY

CARPET, FLOOR RH_GREY

CARPET, FLOOR LH_GREY

CARPET/ DECK BOARD_GREY

STRAP, DOOR PULL (GRY)

ARMREST ASSY, RH (GREY)

ARMREST ASSY, LH (GRXY)

TRIM, DOOR UPR LH-GREY

TRIM PANEL/ DOOR RH (GREY)

TRIM PANEL/ DOOR LH (GREY)

TRIM, DOOR B POST (GREY)

INSTALL HEADLINER SET

HEADLTNER RECOVER LG

HEADLINING,FRONT _ GREY

HEADLINING,REAR _ LT. GREY

HEADLINER,DOOR RH - LT.GREY
HEADLINER, DOOR I"'] - LT.GRtrY

FIR TREE (KEY HOT,E)

R&R SEAT

SEAT COIERS (TWO SEATS), GREY

INSTALL SEAT COVERS, SEATS REMOVED

SHIFT BOOT W,/METAL BRKT

30, OOO MILE MAINTENANCE_ MT

MAJOR SERVICE KIT Y,/T

L20 00

65 00

154 .1r
r54 .]L
rrl "94

,q qt

222 .93
222 .93

,4'l n''7

2r9.38
2r9.38

39.69
224 .0A
295 .00

16.00
599.00
250.00

88.16
640.00
249.04

r20 00

65 00

I54 .1r
r54.1I
r71 .94
s9.90

222 .93
)t) a?

4'7 . A'/

2L9.38
2t9.38

39.69
224 .04
295 .04

32.00
s99. 00

250.00
88.75

640.00
249.40

Subtotal

Sales Tax

Total

C ont anued

Continued

Continued



Delorean Motor €ompanY
15O23 Eddie Drive

Humble, Texas 77596 USA

281/441-2557 Voice
281/441-2815 Fax

800/USA-DMCI Toll-free
hftp N / wvrw.delorean.com

Quotation
Quote Number:

531

Quote Date:
Nov 3, 2005

Page:
10

HmE

Quoted to:
DMC HOUSTON
15023 EDDIE DR

HL'}4BLE, TX 11396
USA

Customer lD Good Thru Payment Terms Sales Rep

DMC_HOU L2/ 3 /05 Prepaid

Quantity Item Description Unit Price Extension

'1 .00
1 .00
I .00
1.00
1.00
1.00
5.00
1 .00
r .00
I .00
1.00
1.00
1.00
7.00
4 .00
2.OA
4 .00

100523x
101 0 69
r021l4
r02249
r02256
r42442
L42443
r4251 5

r02646
1021 a2

105505
7A6901
ra2 604
w100559
w100560
w100553
w100554

FILTER, FUEL - KIT ITEM

LAMBDA SENSOR

FILTER, OIL
GASKET,ROCKER CVR LH

GASKET, ROCKER C\E RH

BELT,ALTERNATOR

SPARK PLUG _ SIL!'ER
AIR FILTER ELEMENI

CAP/ DISTRIBUTOR

WIRE SET IGNITION
DRIVE BELT,A,/C
WTRE, IGN COIL
ROTOR, DISTRIBUTOR

ENGINE OIL
GEAR OIL
COOLANT

SHOP SUPPLItrS

) )\
2 "50

L2.95
15.00

15.75
10. 00

25.94
60.00

Subtotal

Sales Tax

Total

11 ,15L .34

1f iqt .24


